Unitl

ARGA 20 &, IREM 10, TR 10 4, EFEX 9 A,
LETTUR 10 2%, {REM 10 AL, TRz 10 2%, HEPEX 9 #,

1. Choose the answer that best completes each dialog.

— What can I do for you, madam?

A) I want a kilo of apples. B) You can go your own way.
C) Thanks. D) Excuse me, I’'m busy.

A. B. C. D. (BE#x%)
: A

W ¥
B kA
U>$ oo

=
=
=R M

2. — Good morning, sir. May I help you?

A) No, [ don’t buy anything. B) No, I don’t need your help.
C) ’'m just having a look around. D) Oh, no. That’s OK.

A#: A B. C. D. (B8
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3. — Is there anything I can do for you?

A) Nothing. B) Please show me that tie.
C) Thank you for your help. D) You are welcome.

A. B. C. D. (BE#x)
: B
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4. —

— Can I see some sun glasses, please?

A) What are you doing here? B) What can you do for me?
C) What do you want? D) Can I help you in any way?

A. B. C. D. (BE#x%)
: D
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b, —
— It’s priced at 100 dollars. A) Is it the sale price?
B) What does it come to? C) How much do you charge for it?

D) Is it expensive?



A. B. C. D. (BE#x%)
: C
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6. Choose the best answer for each of the following sentences.
By the time he was 12, Edison to make a living by himself.
A) would begin  B) has begun
C) had begun D) was begun
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A. B. C. D. (BE#x)
: C
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7. Don’t get off the bus until it
A) has stopped B) stopped
C) will stop D) shall stop

Af: A B. C. D. (B8

SEBZE: A
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8. Helen her keys in the office so she had to wait until her husband home.

A) had left; would come B) left; had come
C) had left; came D) has left; comes

A. B. C. D. (B#3x)
: C
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9. “Would you like to play chess with me?” “Sorry, I have to finish my homework before my
mother back.”
A) comes B) will come

C) shall come D) has come

AF: A, B. C. D. (E#3)

SEEZE: A
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10. He will have learned English for eight years by the time he from the university next

year.
A) will graduate B) will have graduated
C) graduates D) is to graduate



A. B. C. D. (BE#x)
: C
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11. Look at the clouds —
A) 1it’ll be snowed B) it is to snow

C) it is going to snow D) it’s snow

A. B. C. D. (BE#x)
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12. 1 to see my friend in hospital the other day.

A) had gone B) went
C)willgo D)am

2 A. B. C. D. (#%)
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13. “ Alice, why didn’t you come yesterday?” “I
A)had B) would
C) was goingto D) did

A. B. C. D. (B#3x)

= W %
B

, but I had an unexpected visitor.”
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14. The chairman’s speech the radio when I turned it on.

A) was broadcast on B) was being broadcast on

C) was broadcasting in D) broadcast over

%AF: A, B. C. D. (2830

5% B %E: B
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15. “How is the team playing?” “They’re playing well, but one of them hurt.”

A) got B) gets

C)are D) were

A. B. C. D. (BE#x%)
: A

W ¥
B Qe &
U>$ oe

=
=
=K M



16. This is John’s photo. We miss him a lot. He when trying to save a child in an
earthquake.

A) killed B) is killed

C) was killed D) was killing

AF: AL B. C. D. (2830
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17. There little change in the patient’s condition since he was taken to the hospital.

A)is B) has been
C) have been D) was
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A. B. C. D. (BE#x%)
: B
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18. Ihaven’t seen her
A) during three weeks B) since three weeks
C) three weeks ago D) for three weeks

A A. B. C. D. (Z.#z)
SEZE: D
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19. Mrs. Jones about her hard housework.

A) has been always complaining
B) is always complaining
C) always complain

D) has always complain

A. B. C. D. (BE#x)
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20.  “When is the lecture supposed to start?” “It now.”

A) has about to start B) is about starting
C) 1s about to start D) is about start

A. B. C. D. (BE#x)
: C
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Unit2
ARG A 20 7, VREM 10 A, B8R 10 #8, HFEX 8k,
LEITUA 10 72, {REM 10 2, T4Ex 10 &, H$ & 8 #,
1. Choose the answer that best completes each dialog.
— It’s cloudy.
A) How i1s the weather like today? B) How is the weather today?
C) What is the weather today? D) What is about the weather today?

Af: A B. C. D. (B8
5445 %: B
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2. —
— 27 degrees Celsius.

A) The temperature may be higher. B) How is the weather today?

C) What’s the temperature today? D) What is the weather forecast say?
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A. B. C. D. (2#3)
: C
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3. —Wohat’s the weather like outside?

A) I like the weather. B) It’s not very hot in summer.
C) It’s raining heavily. D) The weather was very warm.

A. B. C. D. (BE#x)
: C
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4. Three of these we shall not need here, but they are worthy

A)to B)at C)for D)of

AR A. B. C. D. (BE#x)
72‘%7%%% D
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5. — What’s the weather like today?

A) It’s muggy and damp. B) It’s like sunny.
C) It’s freezing. D) It rains.

a mention.



A. B. C. D. (BE#x)
: A
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6. Choose the best answer for each of the following sentences.
Tom, you play with the knife. You hurt yourself.
A) won’t; can’t B) mustn’t; may
C) shouldn’t; must D) can’t; shouldn’t

A. B. C. D. (BE#x%)
: B
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7. “Could I call you by your first name?” “Yes, you
A)will B)could C)may D)might

Af: A B. C. D. (B8

SELE: C
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8. “I hear you’ve got a new watch. I have a look?” “Yes, certainly.”

A)Need B)May C)Shall D) Should

A. B. C. D. (2#z)
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9. “Oh, I'm not feeling well in the stomach. I so much fried chicken just now.”

A) shouldn’t eat B) mustn’t have eaten

C) shouldn’t have eaten D) mustn’t eat

A. B. C. D. (BE#x)
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10. “The lights are out. They sleeping.”

A)must B)can’t C)mustbe D) mustbeing

Af: A B. C. D. (B30

5% B %E: C
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11. “Why hasn’t he turned up yet?” “He have missed the train, but I’'m not quite sure.”

A)must B)may C)can D) should



A. B. C. D. (E2#z)
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12.  “How much shall I pay for the phone call?” “You . It’s free of charge.”

A) shouldn’t B)can’t C)don’thaveto D) mustn’t

AFi: Ao B. C. D. (B#x)
SEEE: C
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13. “She go out at night by herself.”

A) dare notto B)daresnot C)doesn’tdareto D) not dares to

A. B. C. D. (2#z)
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14. “A computer think for itself. It must be told what to do.”

A)can’t B)couldn’t C)maynot D) mightnot

Am: A, B. C. D. (B30

SEEE: A

5] 7R ARATT -

15. “Sir, you be sitting in this waiting room. It i1s for women and children only.”

A)oughtn’tto B)can’t C)won’t D)needn’t

AFl: A, B. C. D. (283

5EEE: A
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16. “He without saying good-bye to them, for he always has good manners.”

A) mustn’t have left B) may not have left
C) shouldn’t have left D) can’t have left

AFi: AL B. C. D. (B2

5EZE%E: D
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17. “When he was there, he go to that coffee house after work every day.”

A)would B)should C)hadto D) might



A. B. C. D. (BE#x)
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18. “Sorry, I'm late. I have turned off the alarm clock and gone back to sleep again.”

A) might not B)shouldn’t C)can’t D) won’t

A#: A B. C. D. (B30
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19. “My dictionary has disappeared. Who have taken it?”

A) should B)must C)could D) would
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20.  “Write to me when you get home.
A)Imust B)Ishould C)Iwill D)Ican

A. B. C. D. (BE#x)
: C
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Unit3
KRG A 20 &, REM 10 2/, TR 10 &8, HPEX 9,
LEITR 10 AL, REM 10 A, B8 10 &, HEFPEX 9 A,
1. Choose the answer that best completes each dialog.
— What day is today?

A) It’s a fine day. B) It’s Monday.
C) It’s March 3rd. D) It’s Christmas Day.

A. B. C. D. (BE#x)
: B

=
%%ﬁ

TN\ o3
e
o -

2.  — Excuse me, can you tell me the time?

A) Yes, [ can. B)It’s Sunday.
C) It’s five thirty. D) It’s February



A. B. C. D. (BE#x)
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3.  —Wohat’s the date tomorrow?

A) It’s May 15th. B) It’s Wednesday.
C) It’s May. D) It’s Teachers’ Day.

A. B. C. D. (BE#x%)
: A
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4.  — When is Valentine’s Day?

A) It’s in February 14th. B) It’s February 14th.
C) It’s at February 14th. D) It’s to February 14th.

A#: A B. C. D. (B8
5ZE%E: B
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5. —How long will your trip take?

A) It will start tomorrow. B) It has two days.
C) It took two weeks. D) It will take about two weeks.

A. B. C. D. (BE#x)
: D
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6. Choose the best answer for each of the following sentences.
Jimmy could do nothing but to his teacher that he was wrong.
A)admit B) admitted C)admitting D) to admit

AR A. B. C. D. (BE#x)
72‘%7%%% A
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7. She reached the top of the hill and stopped
A) to have rested B) resting
C) to have arest D) having a rest

AR A. B. C. D. (BE#x)
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Don’t forget the light when you leave the classroom.
A) turning off B) to turn off
C) turned off D) to have turned off

%AF: AL B. C. D. (2830

55%%: B
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9. We agreed here, but she hasn’t turned up yet.

A) having met B) meeting C)tomeet D) to have met

A#: A B. C. D. (B8

5B ZE: C
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10.  She couldn’t help when she heard the bad news.

A)cry B)crying C)tocry D) cried

AF: A, B. C. D. (2830

5% /%5 %: B
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11. The question next year has something important to do with our daily life.

A) to discuss B) discussed C) being discussed D) to be discussed

A. B. C. D. (2#3x)
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12. Itis careless the same mistake in your composition.

A) for you to make B) for you making
C) of you to make D) of you making

A A. B. C. D. (Z#z)

SEBE:, C
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13. We must do whatever we can those who are in trouble.

A)tohelp B)help C)helping D) to have helped

v A. B. C. D. (BE#x)
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14.  When I handed the report to Tom, he said that George was the person
A)tosend B) for sending it to
C)tosenditto D) for sending

A#: A B. C. D. (B8
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15. Iam sorry you the other day.

A) to offend B) offending C) to have offended D) to offending
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16. The boy wanted to ride his bike in the street, but his mother told him
A)notto B)nottodo C)notdoit D) donotdo

AF: A, B. C. D. (B#3)

SEEE: A
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17. He warned me swimming alone because of the rain.

B)notgo C)nottogo D) notgoing

A. B. C. D. (B#3x)
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18. You had better to what he has to say.

A) listen B) listened C) listening D) to listen

AF: A, B. C. D. (E#3)
SHEEZE: A
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19. He finds it easy English.

A)tolearn B)learning C)learned D) and learn

= A. B. C. D. (B#x)
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20. I heard the girl next door yesterday morning.
A)sang B)tosing C)havesung D) sing

VA A. B. C. D. (B#x)
>2 L% D
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Unit4

ARG ]A 20 7L, IREM 10 7L, E4&XK 10 #, HEFEX 9 M.
LRETUA 10 74, fREM 10 &, ZHRK 10, HFEX9 &,
1. Choose the answer that best completes each dialog.

—Excuse me, can you tell me the way to the Union Station?

A) You can’t miss it.
B) I don’t know.
C) Sure. Go straight ahead and take the second turning on your right.

D) You will see it immediately.

AF: A, B. C. D. (E#3)
SELZ: C
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2. —Excuse me, where’s the Capital Theatre?

A) There’s a statue near it.

B) It’s two blocks away from here, along that road.
C) I’'ve got two theater tickets for tonight.

D) Turn right and then you’ll find the cinema.

AR A, B. C. D. (B#x)
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3. —Excuse me, sir. Where is Dr. Brown’s office?

A) You can’t ask me.
B) Pardon? I have no idea.
C) Please don’t say so.

D) Sorry, I’'m new around here, too.

s A. B. C. D. (B#x)
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— Excuse me, but can you tell me the way to the airport?

A) Don’t ask that.

B) Go straight down this street. Turn left at the first traffic lights. You can’t miss it.
C) No, I can’t say that.

D) No, you’re driving too fast.

VA A. B. C. D. (BE#x)
524 %: B
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5. —

— Just over there at the second corner.

A) Hello, sir. Tell me where the station is.

B) Excuse me, could you tell me where the station is, please?
C) Good afternoon, sir. The station , please.

D) Pardon, sir. Can I get to the station, please?

A A. B. C. D. (.#%)
HELZE:. B
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6. Choose the best answer for each of the following sentences.
time, he’ll become a first-class football player.
A) Having given B) To give
C) Giving D) Given

AF: A, B. C. D. (283

5HEE: D
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7. Prices of daily goods online can be lower than store prices.

A) are bought B) bought
C) been bought D) buying

AFi: AL B. C. D. (B2
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8. Mr. Smith, of the speech, started to read a novel.

A) tired; boring B) tiring; bored
C) tired; bored D) tire; boring



A. B. C. D. (E2#z)

SEEE: A
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9. The net bar, last year, is very popular among the students in this school.

A)open B)opening C)having opened D) opened

AF: A, B. C. D. (E#3)
5% B Z%E: D
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I’m going to have my car this afternoon.

A)tobe fixed B)tofix C)fixed D) fixing

A. B. C. D. (BE#x%)
: C
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11. from space, the earth looks like a blue ball.
A)Seen B)See C)Seeing D) To see

Af: A B. C. D. (B8

SEEE: A
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12. They found a old man on the ground.

A) dying; lying B) dead; lied C) death; laying D) died; lain

AF: A, B. C. D. (283
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13. Most of the people to the party were famous scientists.

A) invited B)toinvite C)being invited D) inviting

A A, B. C. D. (2830
5EEE: A

5] 7R FEAT :

14. the letter, he went out to post it.

A) Writing B) Being written C) Having written D) Written

A A. B. C. D. (BE#x)
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